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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes

ﬂch sentence. Then mark the correct choice on your answer sheet.

8-

9.

10-

The warm sun and enough water caused the plant to --———-— in a few days.

1) propel 2) boost 3) proceed 4) flourish
Unfortunately the patient ---==---- many symptoms. of heart disease.

1) exhibited 2) conducted 3) attributed 4) expressed
They accused the President of — information from Congress.

1) abolishing 2) withholdmg 3) terminating 4) surrendering
The President’s power is severely ---—-—- by the Supreme Court.

1) circulated 2} penetrated 3) sophisticated 4) circumscribed
-=====— refers to the fact of two or more things becoming one.

1) Compromise 2) Consensus 3)Confluence 4) Disposition
You can add the fluid to the powder, or, ————, the powder to the fluid.

1) intensely 2) instantly 3) rigorously 4) conversely
Her latest book, --——-—-- “An Introduction to Applied Physics.” is out this week.

1) entitled 2) contended 3jacquainted 4) illuminated
The -——-—- of a sense of hopelessness is evident in this novel.

1) impulse 2) exposure 3) pervasiveness 4) persuasion
The president was -—-——— with admiration for the country’s technological progress.
1) surplus 2) replete 3) excessive 4) extensive
Because of its —---—--- population, this is a good area for wildlife.

1) sparse 2) shallow 3) concise 4) unfastened

————
PART B: Cloze Test

11-
12-
13-

14-
15-

(4) best fits each space. Thern mark the correct choice on your answer sheet.

Directions: Read the following passage and decide which choice (1), (2), (3), or

There are obviously many theoretical motives for studying the history of science. (11) --——--
would study that history inerder to throw light upon his own task and to increase his enjoyment
of it. However, the people who study a subject for theoretical reasons are probably exceptional.
Most students (12) —--—--—- definite training for practical reasons, such as qualifying themselves
for a trade or profession. (13} --——---- from their angle, then, the study of the history of science
will complete the training of scientific teachers, (14) -—------ well requires a kind of perspective
that can be obtained only by historical inquiries. Furthermore, the study of the history of
science will improve the qualifications of students for many parascientific positions having to
deal directly or (15) -----—--- - scientific pursuits, such as those of librarians, editors, curators of
museums, and school or government admimstrators.

1) Seientific men 2) A man’s science 3) A man of science  4) Men from science
Ly are submitted to 2) submit them for 3) are submitted for 4 submit themselves to
1) When 1t1s looked 2) Looking at it

3) They look at it 4) That they look at itself

1) since to teach 2) as if to teach 3) since if teaching 4) as for teaching

1) indirectly in 2) indirectly with 3) to indirect in 4) to indirect with



O ol (il )15 (990 3T (wvadii Colw g S puo
AAIVNITY Al pae () e RP o PP R

PART Reading ﬂmprﬁhﬂnsiun

Directions: Read the following two passages and choose the best choice (1), (2), (3), or (4).
Then mark it on your answer sheet.

PASSAGE 1:

A thin piece of steel can be quenched and will give uniform hardness
throughout its section, but if a massive block is heated and quenched the
interior will cool slowly, despite the rapid cooling on the outside. Thus
there is a gradual decrease of hardness from the outside to the centre of
the quenched block. Furthermore, the unequal dimensional behaviour of
the inside and ourside causes internal stresses, so that & heavy block
of high carbon steel might crack if it were drastically quenched. These
difficulties are overcome, and many other advantages conferred, by the
use of alloy steels. During this century they bave entered more and more
into the manufacture of highly stressed components or parts that have to
work in & corrosive environment, from armour plate and beer casks, right
through the alphsbet at least as far as ‘washing machines and yachts.
There are many alloy steels with only a few per cent of added elements;
careful choice of composition and heat mreatment gives useful properties
at economic cost, often permirting weight savings to be made. At the
other end of the scale, some alloy steels contain 30 per cent or more of
added elements.

Why do we get uniform hardness throughout the section of a thin piece of quenched steel?
1) Because its outside would have cooled while the interior was still warm.

2) Because there 1s a uniform gradient in the hardness.

3) Because the whole section has cooled down at the same rate.

4) Because the surface is harder than the inside.

How can we cause a heavy block of red hot high carbon steel to crack?

1) By unequal dimensional behaviour. 2) By dropping it into very cold water.
3) By making it drastical 4) By stressing from outside to the internal
Which areas of manufacturing have benefited from the use of alloy steels?

1) The alphabet during this century

2) The complete alphabet from a to z.

3) Armour plates, beverage casks, washing machines and yachts.

4) A whole spectrum of industries where metallic parts operate in stressful conditions.
Why do some alloys contain up to 30% alloying elements?

1} Because they need to endure harsh environments.

2 )yBecause they are at the other side of the scale.

3) Because their compaosition is of careful choice.

4) Because they are cheaper.

Which factors must be observed in the design and selection of an alloy steel?

1) The amount of alloying elements. 2) Heat treatment and composition.

3) Properties, cost, and weight. 4} Scales.
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PASSAGE 2:

Many buildings constructed since 1945 have employed slominium cur-
tain walls, the metal being either commetcially pure or with only & smail

smount of alloying elements, The curtain walling of skyscrapers may
require about 1000 tonnes per building. In London, the headquarters
of the Daily Telagraph has a design resembling a ship, in keeping with
the nearby dockland environment. The upper patts are of aluminium
with about 0.5 per cent of esch of magnesium and manganese. Pro-
filed lengths 7.5 metres long were produced from coils which had been
etched in caustic soda, treated with chromste and then coated with a poly-
vinylidetie fluoride paint.

What is the impurty content in curtain walls made from pure aluminium?

1) Zero

2) The metal is as pure as economically possible

3) The metal contains only a small amount of alloying elements.

4) The metal 1s either commercially pure or with only a small amount of alloying elements.
Why have designers opted for a ship like design for The Daily Telegraph headquarters?
1) Because they wished to keep in harmony with the landscape.

2) Because they wanted the building to resemble a Dockland

3} Because the building was erected in a dock,

4) Because the environment was nearby.

What is the aluminium content in the upper parts of the Daily Telegraph headquarters?
1)0.5% 2) 1% 3) 50% 4) 99%

How is an alaminium coil cleansed prior to treatment for painting?

1) By causing to soda

2) By producing from profiled lengths

3) By coating with polyvinylidene fluoride:

4) By dipping in a concentrated sodium hydroxide solution.

How long have manufacturers been using commercially pure aluminium in the
construction of curtain walls?

1) 7.5 metres 2) Nearly 65 years

3) only in the upper parts 4) along the curtain walling
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| PART D: .

Directions: Read the questions and then choosing the best choice (1), (2), (3), or

| (4). Then mark the correct choice on your answer sheet.

It has been ten years -------——- we last met.

1) ever 2) since 3) that 4) when

A lot of work --———-—- to be done.

1) remains 2) remain 3) remaining 4) to remain

It --- when I left home.

1) rained 2) raining 3) will rain 4) was raining

When glass is toughened, it becomes more !

1) resilient 2) msulator 3) glassy 4) conductive

The concept of heat capacity is only used when the addition of heat to or of heat
from the -=—---- produces a temperature change.

1) commence place 2) subtracting — pipe  3) withdrawal — system 4) removing — plate
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